SIGNATURE PAGE

RFQ# F-30-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	Garden State Concrete
Preparer's Name:	Jennifer B'Brien
Signature:	Semifer C. O'Brien 11/21/23
Address:	300 Commerce Drive
	Tinton Falls, NS 07753
Telephone No.:	732-229-7678
Fax No.:	
E-Mail Address:	1. obrien C garden state concrete . com
	(This should be the email where Contracts would be sent)
Contact Person:	Jennifer O'Brien
FEIN:	
(Federal Employee ID)	

RFB# F-30-2024

County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER CONCRETE FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

RFB must be recei	ved no later than:	November 22, 2023 10:30AM		
For Delivery to:	Various Delivery Location	s. See Details Below:		

Delivery Date:

1/1/2024-12/31/2024

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE		
DIVISI	DIVISIONS OF ENGINEERING AND BRIDGES					
. 1	NJDOT MIX CLASS "B" CONCRETE (3700 PSI) REGULAR	35 CU.YD(S)	165	5175		
2	NJDOT MIX CLASS "B" CONCRETE (3700 PSI) WINTER	9 CU.YD(S)	170	1530		
3	NJDOT MIX CLASS "A" CONCRETE (4600 PSI) REGULAR	15 CU.YD(S)	175	2625		
4	NJDOT MIX CLASS "A" CONCRETE (4600 PSI) WINTER	10 CU.YD(S)	180	1800		
5	NJDOT MIX CLASS "S" CONCRETE (2000 PSI) REGULAR	10 CU.YD(S)	135	1350		
6	NJDOT MIX CLASS "S" CONCRETE (2000 PSI) WINTER	5 CU.YD(S)	140	700		
7	PUMPABLE COARSE GROUT (4,500 PSI) REGULAR	14 CU.YD(S)	180	2520		
8	PUMPABLE COARSE GROUT (4,500 PSI) WINTER	10 CU.YD(S)	185	1850		
9	PUMPABLE FLOWABLE FILL (NJDOT CLSM)	14 CU.YD(S)	225	3150		

County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER CONCRETE FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10-	PUMPABLE FINE GROUT (3,000 PSI) REGULAR	14 CU.YD(S)	225	3150
11	PUMPABLE FINE GROUT (3,000 PSI) WINTER	10 CU.YD(S)	240	2400
12	NON-PUMPABLE FLOWABLE FILL (NJDOT CLSM)	10 CU.YD(S)	225	2250
13	EXCESS TIME (PER 1/4 HOUR) - 6 MINUTES/YARD ALLOWED	43 UNIT(S)	50	2150
14	SIKA RETARDER AL OR EQUIVALENT SET RETARDING CONCRETE ADMIXTURE (RETARDANT)	60 OZ	10	600
15	SIKAMENT 686 OR EQUIVALENT HIGH-RANGE WATER REDUCING ADMIXTURE (PLASTICIZER)	45 OZ	10	450
16	SIKASET NC-4 OR EQUIVALENT ACCELERATING ADMIXTURE (ACCELERANT)	110 OZ	10	1100
17	DELIVERY CHARGE - UPCHARGES FOR WEEKEND DELIVERY ARE NOT PERMITTED	25 TRIP(S)	375	9375
DIVISI	ON OF BUILDINGS AND GROUNDS			
18	NJDOT MIX CLASS "B" CONCRETE (3700 PSI) REGULAR	5 CU.YD(S)	165	825
19	2,500 PSI READY MIX CONCRETE - REGULAR	5 CU.YD(S)	135	675
20	2,500 PSI READY-MIX CONCRETE - WINTER	5 CU.YD(S)	140	760

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-30-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER CONCRETE FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
21	4,000 PSI READY-MIX CONCRETE - REGULAR	5 CU.YD(S)	160	800
22	4,000 PSI READY-MIX CONCRETE - WINTER	5 CU.YD(S)	165	825
23	5,000 PSI READY-MIX CONCRETE - REGULAR	5 CU.YD(S)	185	925
24	5,000 PSI READY-MIX CONCRETE - WINTER	5 CU.YD(S)	190	950
25	DELIVERY CHARGE - UPCHARGES FOR WEEKEND DELIVERY ARE NOT PERMITTED	1 TRIP(S)	375	375
		•	10. 4	

\$ 48,850.80

**** SEE ATTACHED SPECIFICATION ****

SUBMIT ALL INQUIRIES TO: FORMALBIDQUESTIONS@CO.MONMOUTH.NJ.US

Various Delivery Locations:

Division of Engineering Public Works Complex, Bldg. E 240E Center Street Freehold, NJ 07728 Ray Bragg 732-431-7760 x3559

Division of Bridges Public Works Complex, Bldg. E 240E Center Street Freehold, NJ 07728 Tracey Halpin 732-431-6556

VARIOUS LOCATIONS IN MONMOUTH COUNTY